3.2

-5n -10
<-3@3)or —_SS—_S

< -9 or n=2

1) (3)

3) x+7>12 or%"<—§

-7 =7 or x<-=5

x=>5
-5 0 5

(—OO’—S) U [51 OO)
5) x—6<—13 or X< =%
6 6
+6 +6
x< -7 or x<-10
%]5 )
-10 -7 0
(=, =7)

7) (8)§>—1(8) and v—2< 1
13) 3<94x<7
—-9-9 -9
—-6<x< -2

-6 —-20
[_6' _2]

15) 11<8+k<12
-8 -8 -8

+2 42

v>—8 and X v<3
- )
W
-8 0 3

(=8,3)

9) -8+ b < -3 and %<24—0
+8 +8

b <5 gmd b <5

0 5
(=90,5)

11) a+ 10 =3 and %S%
—-10 —10
a>—-7and a<6

17) 3<x—-1<1
+1 +1 +1
—2<x<2

-2 0 2
(=2,2)

19) -4 <8-3m <11
-8 —8 -8
Z12 _-3m_ 3
-3 -3 — -3
4>m>=-1
-1=m<4

-10 4
[_114)




21) -16 £ 2n—10 < 22 23) =5b+10<30 and 7b + 2 < —40

—16 X —22

No solution @

25)3x—9<2x+10 and 5+ 7x < 10x — 10

—2x —2x —7x —7x
x—9<10 and 5<3x-10
+9 49 +10 4+ 10
x <19 <=
<) <
[ S 5<x
0 5 19
[5,19)

27) 8 —6v<8—-8vand 7v+9 <6+ 10v

+ 8v 4+ 8v —7v —7v
—-8+2v<8 and 9<6+3v
+8 + 8 -6 —6

v<8 and 1<v
I

B

01 8

[1,8]

29)1+5k<7k—30rk—10> 2k + 10

—5k—5k -k —k
1<2k—30r —10>k+10
+3 43 ~10  —10
%s% or —20>k
2<k

-20 02

—10 —10 -2 =2
-5 -5 7 7

—-6—-4 0
No Solution @



31 2x4+9=>210x+1and3x—2<7x+2

—2x —2x —3x — 3x
9>8x+1 and —2<4x+2
—1 —1 -2 @@ 2 gzs_x and
8~ 8
1=>x and -1<x
Hﬁ



